= iRz
AN 2 A EERR B SR S IE TR (5 1 55)
TN 2 SRR BRI ERISEHIE TR (B 15) 13, KIZED D L ZAICK

#

(A TR OHHIE)

F1E BARHTEOBREN ORARHEZIE 600 THZEEE L. AR TEORLEE
AR ZNER 6,900 TH &35,

2 ik PR OMIEDFRIADIX 533 L UMLK 7y T & DeF e b NI IER DR H T
DeFE, [ 1R mASHTRME] (2X5,

SF1343 A 8 HiEH
) B om E O B @






H1R m oA R HOT RO

(A7 F1)
TH M IERTOKH HiIE4A it
1 FENA 7,399 AT40 6, 659
1 FEIA 7,399 AT40 6, 659
100 140 240
1 b 100 140 240
A GET 7,500 600 6, 900




&

(Hfr - TH)

M IERTO%H

At

=6
o

o

\

6, 900

6, 900

6, 900




EIZN

i

NI I S N W | R

WO
AN
(BEpr - TH)
K IR D%A i E%H B
1 FEIA 7, 399 AT40 6, 659
2 M4 100 140 240
WAG R 7,500 A600 6, 900




K HIERTD%A i IE %8
1 B 7, 500 /\600 6, 900
AR 7,500 A600 6, 900




(Bf7 . TH)

T IEZE D A RN FR
Ry e FA R |
(W) 114 il ol IR
0 AT40 140
0 AT40 140




2 A

) 1 FENA
() 1 FEEA

H WIERTO%HE T IE%H
1 BEEINA 7,399 AT40 6, 659
2 7,399 AT40 6, 659
Gk) 2 fEs
(E) 1 Mg
1 #li 4 100 140 240
F 100 140 240




(BAZ © TH)

i )
2
X%y &% i
1 BEEIGAE AR A T40|BE 354 B AT40
1 #li 4 140 | FiT4F B it 4 140




w1 BB
(H) 1 RHEEE
IERE D RN ER
H MERTORE | MiERE R E AR Y.
= (R if&E Z D,
| — e 7, 500 600 6, 900 0 AT40 140
S 7, 500 600 6, 900 0 AT40 140

_10_



(BAZ © TH)

i
B
X4y 4R o]
10 FHE AB21|[THFEE A421
&hEkt A100
12 ZFeek AT FERRHERFE BB TR AT9

_11_




